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#include <math.h>

int main(void)
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#include <stdio.h>
#include <math.h>

int main(void)
{

double deg, rad, y;

scanf ("%l{” ,&deg);
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y=sin(rad);
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return 0;

}

30
30.000000[deg] 00 sin O 00O 0.5000000 00

000 (00ooOoooooon)

e <math.h>0000OMPIOOODO (m)UOOOOOOOO
e COUOUDDOUODODOUOODOOOOOODO

e 1000 sinOUOOOODO cosOOOOOOODODO tanODOODODO

3 Uuoooboogd

001 000000000000 000000O0000DO0000000O0000 (a,b,¢)00
booboooboooobooboobooooooboooobooo

at+b+ec
2

S =/s(s —a)(s —b)(s —c)

Ooo0ooosSooooooooooo

[002 0000000000 (000 [0)0D0000000 cosO0OODDOOOOODOUDODO
oood

[0 30000000000 (U0 [0)OO0LO0OUU0S0 20 yO0O000O0OUOOOODOO
oooog



g5 0000o0ooon

4 00

4.1 OO
gboboooboooboooobooobooboon

(01 000000 OODO00O0O0O0OO00O0O0O0O0ODOOOOoDDOoOOOoOoOoOOoOOO
ogn

(02 06000000000 OOLOOODODOOUODO,O00000O00D0O0DOOOOOO
OOooo@oo:ooooooon)

e 0bobooonog



4.2 QOO0 OOOO

goboobobooboobbOoOoboooooooobooooooo

00 60 70 (0) AM 845

00 AA000000000000000000000000000
0000 000000000000

00 000 1000000000000000000000000

gbooooobooooon
000000 MOooO0ooooo (0O 4)0

ooo
1IE ODO00OO0 OO0
oo 2000000o0oooboobOooObOooobOobOobooOoOoobooOoa

4.3 0OO0OOOO

oooooooooooboobooobooobooboboooboobooo0ooobooooobooboooon
gooooooooobooboooobooooo

(01 30000000000 O0—000000O0O00OU00200000000000000
oooog



